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Neutron detector waveform analysis

* To solve reflected light effect & multi-hit event
 Basic waveform function
* hy X erf (x_tl) exp(=2)
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* H1 : height

* T1 :timing

* Sigma 1 : Raising slope
» Sigma 2 : Falling slope

* Fitting signal waveform with combination of two or three basic
waveform considering delay and attenuation.
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Normal waveform
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Multi-hit candidate
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e Several multi-hit candidate events

e Multi-hit MC test will be done for

Wrong fitting example

5 32 8 8 3 B

were found. An Example shows
additional signal after 30 ns.

Au+Au collision.
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